TEX'R GEODISC

FABRIC FOR WEED CONTROL

ONLY FOR INDUSTRIAL CONVERTING USE

READ THE LABEL BEFORE USING

WASH HANDS AFTER USE

GUARANTEE: 3.2 G/SQM METALLIC COPPER MINIMUM

REGISTRATION NUMBER: 26996 PEST CONTROL PRODUCTS ACT

NET CONTENTS: ROLL SIZES G1.40MX150M, G1.83MX150M

Texel Inc, 485 rue des érables Saint Elzéar de Beauce (Québec) Canada GOS 2JO Tel 418 387 5910 Fax 418 387 4326

Danger - Corrosive to Eyes, skin Irritant, Potential Dermal Sensitizer.
DIRECTIONS FOR USE

To be used only in the manufacture of a pest control product solely for export from Canada.

To convert fabrics in circular pieces of various sizes (called Tex'R GEODISCS) (See attached list of sizes).

PRECAUTIONS

DO NOT get in eyes, may irritate the skin, potential skin sensitizer

This fabric has been treated with copper (cupric hydroxide). Those handling the treated fabric must wear personal protective equipment including a long-sleeved shirt, long pants, chemical resistant gloves and protective eyewear at all times. If there is dust contamination in the air as a result of cutting and sewing the fabric, respiratory protection must be worn.

Use a dust removal suction system when cutting.

Wash hands after use.

FIRST AID

If on skin or clothing: Take off contaminated clothing. Rinse skin immediately with plenty of water for 15-20 minutes. Call a poison control centre or doctor for treatment advice. If in eyes: Hold eye open and rinse slowly and gently with water for 15-20 minutes. Remove contact lenses, if present, after the first 5 minutes, then continue rinsing eye. Call a poison control centre or doctor for treatment advice. If inhaled: Move person to fresh air. If person is not breathing, call 911 or an ambulance, then give artificial respiration, preferably by mouth-to-mouth, if possible. Call a poison control centre or doctor for further treatment advice. In case of accidental poisoning, get medical attention or contact poison centre IMMEDIATELY. \emptyset āáb $\}$ á $\rightarrow \sim \}$ æã£ÁOá $\rightarrow \Lambda$ áá $\rightarrow \Lambda$ áá $\rightarrow \Lambda$ áá $\rightarrow \Lambda$ áa \rightarrow

TOXICOLOGICAL INFORMATION: Treat symptomatically.

DISPOSAL

Fabric trims from cutting have to be disposed according to provincial rules either in a landfill accepting solid waste or an incinerator.

This product contains copper, which is toxic to fish and aquatic organisms. Do not dispose of any portions of this product into water bodies such as lakes, streams, ponds, rivers, estuaries, oceans and other water bodies

NOTICE TO USER

This pest control product is to be used only in accordance with the directions on the label. It is an offence under the *Pest Control Products Act* to use this product in a way that is inconsistent with the directions on the label. The user assumes the risk to persons or property that arises from any such use of this product.

TEX-R®-GEODISC™"Applications: Disc for containers

Á

STOCK #	DESCRIPTION	QTY/BOX	BOX SIZE	BOX/PALLET	QTY/PALLET	KG/PAL LET
GEO-020-II	Geodisc 5cm	50000	61x61 cm	12	600000	205
GEO-030-II	Geodisc 7.5cm	32000	61x61 cm	12	384000	334
GEO-040-II	Geodisc 10cm	18000	61x61 cm	12	216000	263
GEO-050-II	Geodisc 12.5cm	4500	46x46 cm	12	54000	103
GEO-057-II	Geodisc 14.6cm	4500	46x46 cm	12	54000	103
GEO-050-II-WS	Geodisc 12.5cm Wide Slit	4500	46x46 cm	12	54000	103

	1	T	T	T	1	
GEO-060-II-SUN	Geodisc 15cm Sun Center	4500	46x46 cm	12	54000	200
GEO-065-II	Geodisc 16.5cm	4500	61x61 cm	12	54000	227
GEO-070-II	Geodisc 18cm	4500	61x61 cm	12	54000	273
GEO-070-II-WS	Geodisc 18cm Wide Slit	4500	61x61 cm	12	54000	273
GEO-080-II	Geodisc 20cm	4500	61x61 cm	12	54000	355
GEO-085-II-SUN	Geodisc 22cm Sun Center	4500	71x71 cm	12	54000	400
GEO-090-II	Geodisc 23cm	4500	71x71 cm	12	54000	355
GEO-100-II	Geodisc 25cm	2000	61x61 cm	12	24000	185
GEO-1025-II- SUN	Geodisc 26cm Sun Center	2000	61x61 cm	12	24000	193
GEO-110-II	Geodisc 28cm	2000	61x61 cm	12	24000	218
GEO-120-II	Geodisc 30.5cm	2000	61x61 cm	12	24000	262
GEO-130-II	Geodisc 33cm	2000	71x71 cm	12	24000	311
GEO-140-II	Geodisc 35.5cm	2000	71x71 cm	12	24000	355
GEO-150-II	Geodisc 38cm	500	46x46 cm	12	6000	104
GEO-160-II	Geodisc 40.5cm	500	46x46 cm	12	6000	120
GEO-180-II	Geodisc 46cm	500	46x46 cm	12	6000	147
GEO-195-II	Geodisc 49.5cm	500	61x61 cm	12	6000	175
GEO-210-II	Geodisc 53cm	500	61x61 cm	12	6000	202
GEO-240-II	Geodisc 61cm	500	61x61 cm	12	6000	262
GEO-SQ-0300-II	Geodisc square 7.5cm	32000	61x61 cm	12	384000	366
GEO-SQ-0358-II	Geodisc square 9cm	24500	71x71 cm	12	294000	373
GEO-SQ-0514-II	Geodisc square 13cm	4500	46x46 cm	12	54000	198
GEO-SQ-0600-II	Geodisc square 15cm	4500	46x46 cm	12	54000	188

Texel®

This label transcript service is offered by the Pest Management Regulatory Agency to provide efficient searching for label information. This service and this information do not replace the official hard-copy label. The PMRA does not provide any guarantee or assurance that the information obtained through this service is accurate, current or correct, and is therefore not liable for any loss resulting, directly or indirectly, from reliance upon this service.